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PART A: Grammar and Vocabulary

IDirections: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.

61- A: What do you think of my English? Do you think ...?
B: Of course, a lot, but to be honest, you still need more practice.
1) it improves 2) it improved 3) does it improve 4) it’s improved
62- Because the washing machine was making too much noise, she turned it ... to see what was wrong
with it.
1) on 2) off 3) down 4)up
63- They told the old man in the hospital to quit ... forever because his health was in danger.
1) smoking 2) smoke 3) smoked 4) to smoke
64- The process of firing a bullet from a gun is a primary example of the conversion of chemical energy
to ... one.
1) renewable 2) kinetic 3) effective 4) recreational
65- My father's job included two weeks of paid vacation, but he ... it ... before the autumn was over.
1) used - up 2) took - in 3) turned - round 4) checked - in
66- The stock value Citroen industrial products went down again in December, which meant a/an ... of
3.3 % over the year.
1) mission 2) event 3) taste 4) fall
67- Environmentalists believe that in controlling Tehran’s air ..., using public transportation can have

a considerable impact.

1) attention 2) prediction 3) pollution 4) consumption
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your

answer sheet.

Global warming, which is a long-term change in the Earth’s climate system, is mainly caused
by greenhouse gases. Gases like carbon dioxide (CO2) and Methane (CH4) keep some of the
Earth’s heat from escaping and result in an increase in Earth’s ...(68)... . This change in climate
has so far had serious consequences. It has created extreme weather conditions such as flood or
drought and also ...(69)... our food sources. Greenhouse effect can cause health problems such as
heart disease and cancer, too. ...(70)..., knowing that the main cause of this rapid climate change is
human activities like the burning of fossil fuels, there is still hope that we can ...(71)... some of the
negative effects of the climate change through ...(72)... fossil fuels with wind power, solar energy,
or other energy sources. To make this possible, people and governments from around the world

should work together.

68- 1) measure 2) disorder 3) habit 4) temperature
69- 1) affect 2) affects 3) affected 4) affecting

70- 1) Also 2) Because 3) However 4) So

71- 1) absorb 2) generate 3) demand 4) prevent

72- 1) replace 2) replacing 3) replaced 4) to replace

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1

Constellations are groups of stars that people have imagined from specific pictures in the sky.
They have helped people from ancient times to tell time, distinguish various stars, and find their
way at night. They were also important in early religious beliefs. There are about 88 constellations
that cover the entire sky, but not all will be visible during the night.

The ancient Babylonians, Chinese, and Egyptians first recorded stars and their movements. The
ancient Babylonians grouped stars into constellations and even made a calendar. Sailors used the
constellations to help them find their way at night. When the telescope was invented in the 1600s,
people magnified them and learned more stars and named more constellations.

Each constellation has a name. The names inspire stories in many cultures. Many of them come
from Greek myths or stories. Ursa Major (Great Bear) appears in the Northern Hemisphere. The
tale tells that the Greek goddess Hera was jealous of a woman named Callisto and turned her into a
bear. The god Zeus, her lover, carried her to the sky before she could be killed by a hunter. The
constellation looks like a bear.

When different people of the world view the constellations, they may see different objects. While
European astronomers saw the constellation Leo as a lion, the ancient Chinese thought they saw a
horse. Some constellations look like their names, but some are not similar to the character or animal
they were supposed to stand for.

73- Which of the following statements about constellations is NOT supported by the passage?
1) The origins of the earliest constellations likely go back to prehistory.
2) Not all the constellations are visible during the night.
3) The mystery of the night sky makes people tell stories about constellations.
4) More constellations were added to the list when telescope was discovered.
74- Which of the following has NOT been described or told a story about in the passage?
1) Ursa Major (paragraph 3) 2) Constellation (paragraph 1)
3) Calendar (paragraph 2) 4) The god Zeus (paragraph 3)
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75- According to the passage, which of the following statements is TRUE about the myth about Ursa Major?
1) Callisto was carried up to the sky by Hera to become a constellation.
2) Hera is the name of the woman turned into a bear.
3) Zeus saved Callisto from death and placed her in the sky.
4) Zeus protected Callisto when she was a young girl.

76- The example mentioned in paragraph 4 emphasizes the fact that ... .
1) the constellation Leo has been recognized by many cultures as the Lion
2) Leo is considered a rather different constellation figure in different cultures
3) the constellation Leo and its brightest star were well-known in most ancient cultures
4) Leo is one of the most easily recognizable constellations in the night sky

Passage 2

Mafia is a crime group working in many parts of the world and was created in Italy more than
200 years ago. They make billions of dollars a year from such crimes as selling illegal drugs,
stealing, gambling, and other illegal activities.

There are many other groups, like the Italian mafia all over the world. The Yakuza is the name
given to the crime group in Japan. The Triad is a name given to all crime groups in China. In Latin
America, the largest crime groups are called drug cartels. They compete for control of the drug
trade, which makes them huge amounts of money. The main drug cartels are in Mexico and
Colombia, where most of the drugs are produced and sent north into the United States.

The American mafia began at the time when many Italians flocked to the United States in the
1800s to search for better economic opportunities. They decided to earn money from crime, which
was easier than making money by working. They were divided into different groups or “families.”
Al Capone, for example, was one of the most famous American gangsters who founded the Chicago
family. Just like in a company, each mafia family is organized in a hierarchy—some people are
bosses, and some are workers. However, everyone can always work his way up the ladder of power
and respect. The boss, sometimes called Godfather, controls everything that goes on in the mafia
family. It is the boss who decides if someone should be killed or if someone should become a
member. Each family has an underboss, an advisor, some captains, and many soldiers, each with
their own duties. At the bottom of the chain are the associates—the people who do business with the
family but aren’t members.

77- All of the following are mentioned as crime groups EXCEPT ... .
1) The Triad 2) The Yakuza 3) drug cartels 4) Al Capone
78- Why does the author mention the word “families” in paragraph 3?
1) To give us a better sense of how people in a crime group are connected
2) To indicate how people in a crime group can work their way up the ladder of progress
3) To state that in a crime group some people are bosses and some are workers
4) To imply that different members are familial groupings who respect each other
79- Which of the following is NOT true about the American mafia?
1) It appeared during the late 19th century, following waves of migrations from Italy.
2) Each American mafia has a structure, ranging from low members to the powerful boss who
controls the family.
3) The leader of each family is known as the underboss, who makes major decisions and keeps
everyone in line.
4) Associates are a wide range of people who are not members of the mafia, but work for a crime family.
80- The passage most probably continues with a discussion of ... .
1) how the mafia came to the United States
2) the important events that have shaped this secret society
3) the roles each unit plays in a crime family
4) the origin of the earliest mafia groups
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